

Dasopunjo Oladayo Victor

16/ENGO3/018

Civil Engineering

Question 1]

$$y'' = y'(2x+1) + 2y$$

$$\text{For } y'' \Rightarrow y^{(n+2)} + ny^{(n+1)} = 0$$

$$\text{For } y' \Rightarrow \begin{matrix} y'(2x+1) \\ \swarrow \quad \searrow \\ u \quad v \end{matrix}$$

$$y'(2x+1) \Rightarrow y^{(n+1)}(2x+1) + ny^n(2)$$

$$\text{For } 2y \Rightarrow 2y^n$$

Adding back together

$$\Rightarrow y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

Question 2

$$y = x^3 e^{4x}$$

$\swarrow \quad \searrow$   
 $v \quad u$

$$u = e^{4x}, \quad u' = 4e^{4x}, \quad u'' = 16e^{4x}, \quad u''' = 64e^{4x}$$

$$u^{(4)} = 256e^{4x}, \quad u^{(5)} = 1024e^{4x}$$

$$v = x^3, \quad v' = 3x^2, \quad v'' = 6x, \quad v''' = 6, \quad v^{(4)} = 0$$

(ABUAD), The Road to Intellectualism, Quality and Excellence

$$y^{(5)} = u^{(5)}v + 5u^{(4)}v^{(1)} + 10u^{(3)}v^{(2)} + 10u^{(2)}v^{(3)} + 5u^{(1)}v^{(4)} + uv^{(5)}$$

$$y^{(5)} = 1024e^{4x} \cdot x^3 + [5 \times [256e^{4x} \cdot 3x^2]] + 10[64e^{4x} \cdot 6x] + 10[16e^{4x} \cdot 6] + 5[4e^{4x} \cdot 0]$$

$$y^{(5)} = 1024e^{4x} \cdot x^3 + 3840e^{4x} \cdot x^2 + 3840e^{4x} x + 960e^{4x}$$

$$\Rightarrow e^{4x} [1024x^3 + 3840x^2 + 3840x + 960]$$

$$y^{(5)} = 64e^{4x} [16x^3 + 60x^2 + 60x + 15]$$

$$\textcircled{11} \quad x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$\Rightarrow x^2 y'' + x y' + y = 0$$

Using Leibnitz theorem

# From  $x^2 y''$ ,  $u = y''$  &  $x^2 = v$

$$x^2 y'' = {}^n C_0 u^{(n)} v + {}^n C_1 u^{(n-1)} v^{(1)} + {}^n C_2 u^{(n-2)} v^{(2)}$$

$$\Rightarrow y^{(n+2)} x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2!} y^{(n)} \cdot 2$$

$$x^2 y'' \Rightarrow y^{(n+2)} x^2 + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

$x y'$ ;  $u = y'$  &  $v = x$

$$x y' = y^{(n+1)} x + n y^{(n)}$$

For  $y \Rightarrow y^{(n)}$

bringing all together

$$y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^{(n)} + y^{(n+1)} x + n y^{(n)}$$

$$y^{(n+2)} x^2 + x y^{(n+1)} [2n+1] + y^{(n)} [n(n-1)(n+1)]$$

$$y^{(n+2)} x^2 + x y^{(n+1)} [2n+1] + y^{(n)} [n(n^2-1)]$$

$$\Rightarrow x^2 y^{(n+2)} + x y^{(n+1)} [2n+1] + y^{(n)} [n^3-n]$$